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Student worksheet
Focus
Partilioning Whole numbers
Ouestion 1 Question 2

Which one of these is equal to 397?

O Three hundreds and ninety se\en tens

O Three hundreds aod sevehty nine ones

Cr Three hundreds, nine tens end seven ones

<> Th.ee hundreds, nine ones and seven t-.ns

Question 3 Queslion 4

Which one ot these is equal io 1 04?

O 1o4 tens

o 100 tens and4 ones

O f0 hundreds and 4 ones

O l0 teos and 4 ones

A family spent $130 on newsmartphones
Which three sma(phones djd they buy?

Superstaa

$3s

O

Planet O

$70

Network T
$45

O

pho

$25

ne

Question 5

\YL l ;s rhc ncxr n$nrher in rhjs pinentl

I 000. 4 000. 2 000. l 000. ?

oo00
i000

,-i()0

r00
50

Queslion 5

Jo packs small boxes ioto 
"1 

lalger box.

15 cm

10am

cm l0 cm
-+- 15cm -> lnot to scale)

hlhat is the gleatest number of the small boxes that 11 ill fit into dre large box?

Expa.d this oumber.

56475 = + + + +

+ 32cm



Student worksheet
Focus
Number sentences based on addition or subtraction

Question 1

Wilhoul nriing (), *,rite one rligil in errch shrlre h) nlrke the
nullll)cr' \lr lence coflcf 1,

I r -1 .1"!ir--:tl
. +lt ,^

Question 2

Question 3

3 1. 5

!(rite one nunber in each blanli bo x lo rsle lhis nunber sentsnce ltue

i 2 3

Question 4

irn d Ile \vlr1)l[ llur bers
This nrrnb{r scn(cncc is Ll'u0

, ].,,1^1",=1,.)

Whir-h rrl there arc illso true'l
Shade as many
bubllles as you

neocl.

30+ 10=--

40-30=_-. 40-10=

Nhkt nll x dil'h [rol nnnlfd liD]ib_- (hoosc r"ou( ,.r\r'[ nunrt)!.]\

on th" tin"". ,...ir,! 
_ .il

llcrc is il no[rbfl l'llrnil).'.

Iiill an llrr Ili\silg dunftr'r5.
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Wrilo yotx anslvcr
on t}!6linos. _,.,\, -l

Writo lho anslvor


